Seat No.:

Subject code: 341104

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGG.- IV" SEMESTER-EXAMINATION - JUNE- 2012

Date: 18/06/2012

Subject Name: Communication Engineering - 11

Time: 02:30 pm - 05:00 pm

Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.
4. English version is considered to be Authentic
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Y3al 1

Calculate the percentage power saving when one of sideband is suppressed
from AM wave with modulation index (i) 100 percent and (ii) 50 percent.
Explain the Phase shift method to suppress one of sideband from output of
Balance modulator.

Draw block diagram of Communication receiver and explain the function of
each block.
Draw the block diagram of single sideband Pilot carrier receiver and explain
the working of each block.

OR
Draw the characteristic of delayed AGC and explain its working with circuit
Diagram.

State sampling theorem and explain Nyquist rate, Nyquist interval and
Aliasing.
Draw and explain the diagram of PAM demodulator along with its
drawbacks.

OR
Expalin Pulse width modulator cicuit using IC 555 and state the merits and
demerits of this modulator.
Draw and explain the block diagram of PAM-TDM system.

Draw block diagram of PCM transmitter and receiver with brief explanation.
Draw block diagram of PCM-TDM system and explain working of each
block.

OR
Explain generation and reception of BPSK signal.
Write advantages and disadvantages of PCM in detail.

Explain data communication between DTE and DCE using control signals .

Explain RS232 Serial communication standards with important pin names.
OR

Explain Frequency Division Multiplexing.

Explain AFC used in Communication Receiver.
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